AMOIZ2E AIOIXH

custom sports

OSSO0

g4 /1 03
M XI: C3 Basic*, C5 Pro*, M6 Hero* / HIXI: CP5 Pro, CP6 Comp, CPW5 Pro* / 2ZE4H I3l CJS5 Pro
ATEH HCVS5Pro / A& M3 CIW5 Pro / |IE &3 CVW5 Pro* / A214E CT7 Epic / JtetEl XP5 Pro
owayo AtO| = 2 K 4 5 6 7 8 ] 10 1 12
@ Jt&s=dl (cm) 82-86 86-90 90-94 94-98 98-102 102-106 106-110 110114 114-118 118-122 122126
siel=dl em) 86-90 90-94 94-98 98-102 102-106 106-110 110114 114-118 118-122 122126 126-130
=ZH EE MOI= XS S M L XL XXL
*S 2Bt AFO|=9| HIS: CL3 Basic, CL5 Pro, CW5 Pro, CT5 Pro, ML6 Hero, CPO5 Pro, CPL5 Pro, CYW5 Pro V
0 &
X Xl C5w Pro* / HFXI: CP5w Pro, CP6w Comp
owayo AtO| = S1 S2 S3 S4 S5 S6 S7 S8 S9 S10
@ Jts=dl (cm) 74-78 78-82 82-86 86-90 90-94 94-98 98-104 | 104-110 110-116 116-122
siel=dl (cm) 82-86 86-90 90-94 94-98 98-102 102-106 106-112 112-118 118-124 124130
ZH EE MOI= XS S M L XL
*S2sk AH0| =9 HIZ: CL5w Pro, CW5w Pro, CT5w Pro
2=
MNXF 3=/ FL1I|=

owayo AlO|= 98/104 110/116 122/128 134/140 146/152 158/164 170/176

A& (cm) 95-107 107-119 119-131 131-143 143-155 165-167 167-179

=} 2-4 4-6 6-8 8-10 10-12 12-14 14+

g4 /038
EIM=: Basic Classic 2Jt, v, 21Z / ZE2H= /| WEH /| SCE|
owayo ALO|=
@ IS (cm) 82-86 86-94 94-102 102-110 110118 18126 126-134
106-110 1o-14 114-118 118-122 122126
XXL

El A= Couture

owayo ALO| =

82-86

XS

94-98

102-106

XL

=R EE AHOIZ=




OSSO0

custom sports

(0
EIM=: Classic @Jt<, vl | Z2 4=

owayo AtO| =

S (cm) 74-82 82-90 90-98 98-110 10-122

El A =: Couture, Couture =&

(RN ES

@ Jts=dl (cm) 74-78 78-82 82-86 86-90 90-94 94-98 98-104 | 104-110 110-116 116-122

=R BEE AOI= Xs S M L XL

ot=
El M= Classic 24

owayo A0l =

A (cm) 107-119 1194131 131-143 143-155 165-167

5 NO|ZE 22HR rsEd (A)
ZEet 0| dEE 2o B82S MHIAE IIS0A JtE B0 2 f228 SXMHE 018
01235tal s H&ol SELICH £= AM0I= off =22 MAR.
HE JlE2=z deiotal &= JASLICH A= 2 M SXE UR XO0IX RES =
SlotMl 2.
Oel22 XI==Jt & A0l =2 =2t X==ctH
Jls Ol et SE86HAIS SLICH B4 28 Al Slcl el (B)
RS HFUA L24ITHH 2 X2, EHOIE AHO0I0AM Ot RO 2 22 NS
Ot Y2AICHE &2 X|+=5 deotal AE Ol8o =E22 HAR.
LT A= 2 M 2NE R 20X &5 =

_1'3_
SlotMl 2.




